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R IS THE REGION With ◦ ERE 4, ◦ ≤y≤E.

BOUND OF y DEPENDS ON IC ⇒ Y INTEGRAL ON RIGHT,
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1110) 24+492=4 IS THE EQUATION FOR AN ELLIPSE,

SINCE (2,0), (0,1) AND E. G. C- 2,0) LIEON THE ELLIPSE,

WE KNOW IT IS

2- 2

THE ELLIPSE

AND SPECIFICALLY C IS THE ARC

(2/0)

I'LL GIVE 3 OPTIONS:

A) TRIGONOMETRIC: ( self), glt))- (Zoos (t), sin (t)),

B) BY y: USE y=t.

THEN
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21 412 = 4

⇒ m² = 4 (r-y)

⇒ ✗ (E) = 2) i-E

(ult), y (t)) = (ZF, t) ,so Oetel.

C) BY re: USE n=t.
THEN 5+412=4
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BUI THS HAS INCORRECT ORIENTATION.

ORIGINALLY, & GOES FROM 0 TO 2.
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12 d) . PARAMETRISE C:

A PARAMETRSATION is Given By
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